Analogue to Digital — 12 Hour

Analogue to Digital = 12 Hour

4a. Ryan arrives at the cinema at the time
shown on the analogue clock. He thinks
he’s on time to watch Space Wars.

Film i
Time

Captain 11:30am

Britain

Space Wars 11:46am

Spider Boy 12:07pm

Is he correct? Explain why.

77

4b. Martha arrives at the Leisure Centre at
the time shown on the analogue clock.
She thinks she’s on time for yoga.

Activity ?:::

Gymnastics 04:17pm
Trampolining 04:12pm
Yoga 04:22pm

Is she correct? Explain why.

|3

5a. Which is the earliest and latest time?

03:19am

am

M ivre

5b. Which is the earliest and latest time?

10:09am

01:27am

6a. These clocks both show the same
time. What could the missing minute hand
and hour be?

27

6b. These clocks both show the same
time. What could the missing hour hand
and minutes be?

11:




